FERR 108 & 6 A4

R(2)

4
fon
A

4

[

=

o

gty 2

§

BHEKE

A B

A

i

x



o 0 0 0 0 o 0
a {seRieenT 0 59061 005512 0 11Z9L6'81 5 5
o 0 0 0 10 0 0
0 SHE690'T 0 505'006'91 009527 0 11Z9L681 +8
0 0 0 o 0 5 0 M
0 0 0 LOEPTES 0 0 108°128'S €0
’ ¥ ° ° ° 0 0 e TR
0 0 0 L05'428'S 0 0 L0528 _ «0-01010¥E0ES 10
0 o 0 0 i S 0 o
0 SHIES0T 0 650'280°11 005'SLT o POSISTET : [
’ ° ’ ’ ° 0 ‘ BT
0 SYB690°T 0 650'780°1T 009°6LT c SQ,E,.Q O-CIOTOFECLS G
0 o 0 0 5 i 0 SR
0 $PEER0' 0 95590691 009642 i 11Z946'31 S-00010bE0eS i0
0 0 0 0 0 0 0 207 SN T
0 SPRGINT 0 S9E'506'9T 009517 0 11794681 m,oooo@mooa 0
0 o 5 0 0 0 0 B TanaL
0 $¥8'590°T 0 99£006°91 00554 0 1129L6'81 1-000000£0C0 20| LOT
BHEY HEBY HERY B BB Ha YEB %
B 2YEY PERR=RE-r B
- EHY BHE HER S FEHW W FEEW W
E4
. (F)+(8) (&) (%) (D =
pAog:r , =S
T oo D | weses | FEE | e | owen B 4
BLEFE K THEYEH % ¥l
P2 T3 Hue BOEHIOHFSIE B0 0HQIEE & & CEATES

¥l VHFYEFET
U 2R T E



¥z7 ¥

=

000'0r9 12 =4 000'0P9 = =g

G¥8°690°2- BEEEFEHE L0L01€
SY8'690°2- BEHEFYE ¢
§¥8°680'2- FHL ¢

000'0%9 TEHYE 0Tz

S¥8'690'2 ML 108012 000°0%9 BEH=AE 01011
§¥8'60L'2 HEEY 1z |oooors FyEY 11
G8's0L'T HE zjcoo'ors E A

¥ % B % 8 H 3 z B -4 E #

YhFH Tk B0 HI0HR0TEY % 4

Fhk
HGEHLETE




G %

a 0 0 0 o @ D. 0 o o Y SRR - —
S¥8'690'c 996°906'31 0 0 0 o 0 0 0 998'906"0} osahmwwmmﬂw@m%%
SPE'690'T 99£'906'9L 0 9 o 0 a a o 99¢'906'9) DR R £ - —
S¥R'890°Z 99¢'906'9L 0 0 0 o 0 0 0 §9E'908'9)L REERY
a o o a 0 a 0 0 0 0 8% =
0 o 0 ) o 0 0 o o 0 EREHEx - —
0 0 0 o o 0 0 0 ¢ 0 Ry
S+8'690'2 99€'906'0) a 0 0 ¢ 0 g 0 99£'905'aL HHRERE

¥eus (@-(LH+ @ L oo @) ) ) @

By Aﬁwﬁmﬁﬁ %Mw%@%f HEHYHE | qpgrevpn| SEE |TBEEL | HH YL um@mwﬁw B
w7 WVETT T ¥ Yr alf
YRFH T H0E Q0480T F B 10K 104 80T MY & o - LT

FUECFRBETEREBETY
UHGHHLETE



EL#

FEER

HE
BYH#EYT
YR

99c'908'9L 009's.T
0 0
99€'006°9L 008'6.%
99£'908°9l 008's/T
[; %

BraE

YHhFH TE

B0EHI0=80TE BIOH T0FQ0IEE & &

FLE R T\
UGH 2B TIE




